(TeC RIS )

= N -
(TeC ZFHAFRATASE ) m 5
FI1Z (mm) RAETIE wAITEE BIFITER
2 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 1200 2000
O PR 50 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1200 2000
SR - RASHHK, EEFEFTEMHEE. 63 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
FmiE . REEEE NI, SELREHERIAES, ESEREE 80 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
FREME. 100 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
RRUASH . SHRRMUHEPBRE. 125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
MEEER . SEFRELRE—NRA#BK, ETMAREESELEN 160 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
BT R RBNSERISEE. 200 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
250 25 50 75 80 100 125 150 160 175 200 250 300 350 400 500 600 700 800 900 1000 1500 2000
B ERHe - W SRS sl
: LTk ® 032 ~ 5250 8 ciizie
E F G c]
H N 2-0 N
P f
® TR ® .
[a] XI
3
J >L
b — [(o_x s0) — : "
w
#71 HE X 1712 MAKS REHR TER
PREEEHE LS : THEIR FiES . HEH
S: BEF BE. 7]
FAR . ) = A B © D E F G H 1 J K L
FBE! . B3 EZE
. AT, FEEEM AL 32 140 | 47 | 93 | 28 | 32 15 | 275 | 22 17 6 M10x1,25 M6x1
| =4 5% 50 / = . . CB & . Rz ER NIEE! 40 145 49 96 32 34 15 | 27.5 | 24 17 7 Mi2x1,25 Méx1
1) #&i H 5 T424 50 ZF CA ; 93T ), it
) BITMIELR A S0mm, {73255 50mm, KA CAEEARSHE, HEMAITMER TCH ; {EiZR . 5 | 57 | e | | @ 5 | 275| 2 | = A M1ox15 Vot
23 ; TGC50 X 50~CA
2) STTRLESS 32 1% 100 20 LB EE AT, X EMATRER 63 156 | 57 | 99 | 38 | 42 15 [ 275 | 32 | 23 8 Mi6x1.5 M8x1.25
mm Y mm, 3 4 o) g
1T 1= - 7tz C Bl ’ TR 80 188 75 13 47 54 21 33 40 26 10 M20x1.5 M10x1.5
23 ; TGC32x 100—-LB
100 191 | 75 | 116 | 47 | 54 | 21 33 | 40 | 26 10 M20x1.5 M10x1.5
125 205 | 88 | 117 | 52 | 68 | 20 38 54 | 41 | 13.5 M27x2 Mi2x1.75
160 245 | 113 | 132 | 62 | 88 | 25 38 72 55 18 M36x2 M16x2
W A& 200 251 | 118 | 133 | 67 | 88 | 30 | 38 | 72 | 55 | 18 M36x2 M16x2
S (mm) @ 7 ‘ B ‘ & ‘ - ‘ . ‘ @ ‘ P ‘ = 250 306 | 141 | 165 | 8 | 106 | 35 48 | 84 | 65 21 M42x2 M20x2.5
e gmm
iz = = i & M N 0 P Q R S T \ w
THENR =5
FREHTH 0T 05 W 32 9.5 13,7 Rel/8 3.5 7.5 7 4 33 12 10
ﬁimﬂfj: ey, 40 9.5 13.5 Rel /4 6 8.2 9 50 a7 16 14
ERRERE T10 ~60c (EREE) 50 9.5 13.5 Rel/4 7 8.2 9 62 47 20 17
ERRERR 50 = 800mm)/s 63 9.5 13.5 Re3/8 7 8.2 8.5 75 56 20 17
FRER TEE 80 1 16.5 Re3/8 10 9.5 14 94 70 25 22
Y = pr— ‘ pr— ‘ 22 100 11 16.5 Rel/2 11 9.5 14 112 84 25 22
BEEOEZ Rel /8 Rel/4 [ Re3/8 [ Rel,/2 Re3/4 Rel 125 18.5 2 Rel/2 14 6.5 14 136 104 32 27
160 18.5 20 Re3/4 15 5 15 174 134 40 36
200 18.5 20 Red/4 15 5 15 214 163 40 36
250 21 26 Rel 22 8 20 267 202 50 46

J




